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QUESTION 1

Refer to the exhibit. 

What are two ways to resolve the error BGP label allocation failure: Need a next hop address on LAN? (Choose two.) 

A. Configure a /32 static route with the next hop as itself to any remote address on the network assigned to the CE-
facing interface. 

B. Resolve the MPLS issue between the PE routers. 

C. Configure a static ARP entry on fe-l/#3.0. 

D. Configure vrf-table-label in the routing-instance. 

Correct Answer: AD 
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QUESTION 2

Click the Exhibit button. 

Based on the output in the exhibit, which statement is correct? 

A. R4 has been configured with an IS-IS export policy and is announcing external routing information. 

B. R3 and R4 have an adjacency at both level 1 and level 2. 

C. R3 has been configured so that it is not used for transit traffic. 

D. R3 and R4 have only a level 2 adjacency. 

Correct Answer: D 

 

QUESTION 3

Which two configuration parameters are required to configure a BGP-signaled VPLS service? (Choose two.) 

A. vpls-id 

B. site-identifier 

C. route-distinguisher 

D. site-address 

Correct Answer: BC 

 

QUESTION 4

Click the exhibit button. 
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OSPF was configured 15 minutes ago and all databases are synchronizeD. However, the router is not receiving any
transit traffiC. 

What is a reason for this behavior? 

A. The reference bandwidth has been set incorrectly. 
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B. The hold-time attribute is set too low. 

C. The overload timeout threshold has not been reached. 

D. The preference attribute has been set too high. 

Correct Answer: C 

 

QUESTION 5

Click the Exhibit button. 

You have an MPLS network and you have configured least-fill as your CSPF tiebreaker. Using the information in the
exhibit, which path will be used to signal a new LSP requiring 12 Mbps? 

A. Path 1 

B. Path 2 

C. Path 3 

D. Path 4 

Correct Answer: D 
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